
 

 

 
 
 
 
Supplementary Figure 7. Sensitivity to which lung model is used.  

𝑉̇#$%%&  5 l/min in both lung models. In the constant 𝑉̇' lung model (left) and the standard ARDS lung model (right) 

𝑃)𝐶𝑂, rises as 𝑄̇%. falls, but the slope of the line is relatively flat at the 𝑄̇%. > 2L/min. With both lung models 

𝑃)𝐶𝑂, rises with increasing /̇0
/̇1

, but there are differences in the rate of rise between the two models. Curves for 

/̇0
/̇1

 1.0 are identical in both lung models, as there is no pulmonary blood flow, so 𝑉̇' does not affect gas exchange. 

Curves for /̇0
/̇1

 0 are identical, as 𝑉̇' is the same in both models. 
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